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The set of all real values of x such that f(x)= 15 a real valued

function 15

Options:

[1, )

(o0, —2) V[4, )

2. %

[-1.3)
3. %

[—1, 2) u[4,0)
4. &

Question Number : 2 Question Id : 64041112322 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



If a function f:7Z — Z is defined by f(x)=x—(=1)*. then f(x) is
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solving a svs " linear equations AX =R by Cramer's 1 :
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The roots o3 ofthe equation x - 6(k —1)x +4(k - 2) = 0 are equal in magnitude
but opposite i sign. 1f o >, then the product of the roots of the equation
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If ax” +bx+c<0vxeR and the expressions cx” +ax+b and ax” +bx+c
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have their extreme values at the same point X, then for the expression cx” +ax +b
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If a+ib and btai are the roots of x4—l(}x3.—50x2—130x+169:0. then
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If x* —5x + 6 is a factor of £(x)=x*-17x + kx* ~247x +210, then the other
quadratic factor of f(x) 1s
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[fall the letters of the word COMBINATION are arranged n all possible ways to
form 11 letter words (with or without meaning), then the number of words among
them m which C and N occupy the end positions and no vowel appears exactly i
the middle position 1s
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The number of ways of distributing 3 dozen fruits (no two fruits are identical) to
0 persons such that each gets the same number of fruits 1s
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If P, denotes the product of the binomial coefficients in the expansion of (1+x)",
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If A+B+C= 5 then sin4A +sin4B +sin4C =
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Number of solutions of the equation cosf+c0s26-+/3(sin6+sin26)+1=0
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If x 15 a real number, then the number of solutions of
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Domain of the real valued function
f(x):log(xz ~-1)+ xCoth'x is
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In a triangle ABC, 1f 5111521\[ ,a=2, ¢=5 and { 1s an integer, then the
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Ina AABC if a+c¢=5b . then cot%cm%:

—

A

AABC & a+c=5b wona. cot—cot— =

Options :

12 | W

| k2



Question Number : 28 Question Id : 64041112348 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Options :

Question Number : 29 Question Id : 64041112349 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Let the position vectors of the vertices of a triangle ABC be a,b,T. If on the
plane of the triangle, P 1s a point having position vector ¥ such that

X(c-b)=ac-ab and X(a-¢)=ab-b, then for the triangle ABC, Pis the
2% Bthao ABC @vé dome %E\‘J $8¢e 7, b, T o efbowo. X(C-b)=ac-ab

pYelony E.[E—E):EE—E_E edbiye & (Bthe oo X ﬁgﬁé OB o ¥
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The pomnt of ntersection of the lines represented by
T=(1-6j+2k)+t(i+2j+k)and T=(4j+k)+s(2i + j+2k) is

T=(1-6]+2k)+t(1+2] +k) S8 T=(4]+k)+s(21 + j+2k) o3
Srdodnt due pols Do
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21+ j +k respectively form a tetrahedron, then the angle between the faces ABC
and ABD of the tetrahedron 1
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a,b, T are unit vectors. If 3 b are perpendicular vectors, (7-¢).(b+¢)=0
and € =/a+mb +n(axb); (, m, n are scalars), then n’=
a, E,E o0 OSoRE) SBden. a, b von HBden o, (a- E)_(E+E): 0 @bcke
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If the variance of the first n natural numbers 1s 10 and the variance of the first m
even natural numbers 1s 16, then n:m=

v #
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Given f(x) = %2 _5x + 4. Out of first 20 natural numbers, if a number x is chosen

atrandom, then the probability that the chosen x satisfies the mequality f(x) > 10

IS
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A problem in Algebra 1s given to two students A and B whose chances of solving
I
it are £ and 1 respectively. The probability that the problem is solved if both of

them try independently 1s

o Q )
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Three dice are thrown simultaneously and the sum of the numbers appeared on
themis noted. If A s the event of getting a sum greater than 14 and B 15 the event

of getting a sum which is a multiple of 3, then P(A 1 B)+P(AnB)=
St e Déwod® FFRodmh HBak 83 SKnbs Soare IngR) HBoTS
14 %08 5 Toml) §ro8 k% A HBcko 3 o) Hodessdiore 400 ozl eln)
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A manufacturimg company of bulbs has 3 units A, B and C which produce 25%,
35% and 40% of the bulbs respectively. Out of the bulbs produced by A, B, C
units, 5%, 4% and 2% are defective respectively. If a bulb 1s chosen at random
and found to be defective, then the probability that it s produced by unit B 15
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The probability distribution of a random variable X is given below

2.5 R \"’ Seoed X G Sogrie direo, S B0 adradod.
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2
The probability that a student gets distinction in a Mathematics test 1s Y If five

such tests are conducted over a certamn period of time, then the probability that
he gets distinction 1n atleast 3 tests 1

28 Qod KddTy SBEE° i ( RogS) Brotid Ko Sogrid
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[fP 1s a variable point which 1s at a distance of 2 umts from the line 2x -3y +1=0
and /13 units from the point (3, 6), then the equation of the locus of P is
PeRb 2x-3y+1=0 ¥ %o 2 SR Epdosiir 580 (5, 6) Do
$008 13 dhrdlg &rboiie 4ol o 36 BodsgE, P vk, Doty $8:¥6mo

Options :

4x% +12xy—5y° —44x — 42y +245=0

1. %
12xy — 5y —44x — 42y +243 =0
2.9
8x% +12xy—5y* —44x — 42y +243=0
3. %
12xy —13y% —44x — 42y +245=0
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[f the equation 3x3+4y2—xy%k:0 is the transformed equation of
3% 4 4y2 -xy-5x-Ty+2=0 after shifting the origm to the pomt (c., f) by
the translation of axes, then o+ -k =
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[f the mtercept of a straight line L made between the straight lines 5x-y-4=0
and 3x+4y-4=0 is bisected at the point (1. 5). then the equation of L 1
3X-y-4=0 58a 3x+4y-4=0 $8E090 ol 335;&&6 X6¢09 L %) ©osY
goto (1, 5) Doty 38 Sdbrpotid SohobE, e L @) Faetee

o
Options :

35x —83y+92=0

Question Number : 44 Question Id : 64041112364 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

A line L passes through the point P(1,2) and makes an angle of 60° with OX in
the positive direction. A and B are two points lying on L at a distance of 4 units
from P. If O is the origin, then the area of AQAR 15

L eF $8¢ow P(1,2) S0y thow Fhod 8o OX & %% 836 60° © Fo
3R%o8. A8 B e L 2 Piol 4 chmdy &m0’ &%) Both dothijen. ‘O
maﬂocﬁagé, AQAB G¥) gTerin

Options :

4-24/3

1.4

8—4+/3

4+243

3. %

8+4+/3

4. %

Question Number : 45 Question Id : 64041112365 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The equation (2p - 3);;3 +2pxy - yz — () represents a pair of distinct lines

(2p- 3)};2 +2pxy — yz = () o8 $dod8mo 2.8 DY) $8¢Bpe aSormR)

Options :
Only when p=0

P=0 ©onldpth Se@dh Sorddyod.
1. % )

2. ¢



For all values of pe R —[-3.1]

peR —[-3.1] Qende)ods Srddod.

For all values of pe(-3.1)

pe(-3.]1) dendeoods Jrdknobd.
3. %

) For all values of peR

PpER Dendeododf Srdlob.

4. %

Question Number : 46 Question Id : 64041112366 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The equation of a chord AB of an ellipse 2x” + 3.-'3 =118 x-y+1=0. IfO1sthe

origin, then |AOB =

2 Yy : _ ,
2X"+y" =1 &3 o8 Bdo @) ¥ o ABIbE8mo X -y +1=0. Srelothd

4_

Tau_l y)
2.

Tan

= "' | “J
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Question Number : 47 Question Id : 64041112367 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Nl

Ifa circle S passes through the origin and makes an mtercept of length 4 units on
the lime x =2, then the equation of the curve on which the centre of S lies 15

o o S ooty homiPir Dbdn X=1 $8¥opR 4 dirly KD fe

©088 pomR) Tn, S @) Solo Aot HFo @) KEbwmo

Options :
5
V- —d4X =8
1. %
y +4x=8
2.9
"
¥ o *—4}* —8
3. %
"
S T
4, %

Question Number : 48 Question Id : 64041112368 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A circle touches the line 2x+y-10=0 at (3, 4) and passes through the pomt
(1,-2). Thena pomt that lies on the circle 1s

¥ o 2x+y-10=0 30 (3, 4) 58 %) BEod 2080 (1, -2) Hoth

&
fhomafEod. edph © S B o o Jothi



Options :

R

Question Number : 49 Question Id : 64041112369 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If (a,b) 1s the common point for the circles % fyz ~4x+4y-1=0 and
X% +y7 +2x-4y+1=0, then a® +b% =
X' +y - dx+dy-1=0 $bckw % +y042x-4y+1=0 Hme sk Dok

(a,h) o8, sy a’+b% =

Options :
|
5
1.¢
5
2. %
25
3. %
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Question Number : 50 Question Id : 64041112370 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The angle between the tangents drawn from the point (2. 2) to the circle
3 9 . —1{ ) ; ,
X“+v° +4x +4y+e=0 18 Cos ‘ = ‘ If two such circles exist, then sum of
- w l\ ).I

the values of ¢ 1

) #) £ <
X" 4y +4x+4y+e=0 $md8 (2, 2) Do) Kool ADK K)EBwe K& Ke Eno

prl

4
] 0

Cos_l‘l 1 .
\ 16

aizofl H)zer Bold

Options:

16

Question Number : 51 Question Id : 64041112371 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Ifthe circle §= ¢ + Y: +2gx + 4y + 1= bisects the circumference of the circle

X% +y* - 2x —3 =0, then the radius of circle §=  is

égeéo x2-|-}:3—2x—3:0 &:oﬁ:_ $869%, ée\éo Szx273f2+2gx+4y+l:0

S5oBrpold T, edh S=0 @ o
0J - o/ v v @

Options :

2.

25
3. %

12
4. %

Question Number : 52 Question Id : 64041112372 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The angle between the tangents drawn from the pomt (1, 4) to the parabola yz = x
18

(1, 4) Dosy Hob }f'z =4x SordecieR8 ADS Q) ,ﬁﬂl@ g Ko B0

Options :
T
1. % 2
T
4
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Question Number : 53 Question Id : 64041112373 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

. - - , 7
The square of the slope of a common tangent drawn to the circle 4x~ + 4v= =25

and the ellipse 4x® +9y? =36 is

7 7 ? ! - .
47 +4y” =125 i dhbady 4x7 +Iy” =36 68 Hz8 NN o el 51538

< o9

G% aPer @0¥) S8
- AT

Options :
|
1.
2
11
2.9
2
3
3. %
2
4. %
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The tangents drawn to the hyperbola 5x% - 9}?2 =90 through a variable point P

make the angles o and p with its transverse axis. If «, [ are the complementary
angles. then the locus of P 1s

i, 7 i
5% -9y" =90 ©8 Soedede08 P ol af $8 Do Hom g )3 ogen, o
845 008 U HBctn p Serer Tmmom. O Bk B e 788 Eereond, ey
P @n% Do J80

A

Options :
’J
+y =8
1. %
2 9
X =% =8
2. %
o, >
X —y —28
3.¢
-
Xt hyr=28
4, %

Question Number : 55 Question Id : 64041112375 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If § is the acute angle between the asymptotes of a hyperbola 7> _9};3 =63,
then cosh =

7x° —Qy =63 ©F ¥ e8sTHedho @n¥) eod éﬂ}éﬁ@@: e Ho oo =50 f

©ON3, eptd cos6=

Options :
1. %



| =

3

A
2. %

1

3
3. v

4
4% 7

Question Number : 56 Question Id : 64041112376 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If 0(0.0.0), A(1.2.1), B(2.1,3) and C(-1.1,2) are the vertices of a tetrahedron,
then the acute angle between its face OAB and edge BC 15
0(0,0,0), A(L2,1), B(2,1,3) and C(-11,2) e ¥ &l @g) %Ug;:x: BN,

wdph ol Swogdo OAB Dédn voth BC e oy Ko odn oo

Options :
(632 )
| 5v7 )

Cos_l




[ 642

I

Tan

o |
e —

N
|

2 | =

4. %

Question Number : 57 Question Id : 64041112377 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If the angles between the sides of the triangle ABC formed by A(2, 3. 3).
B(-1,3,2)and C(3, 5,-2) are o, pand y, then sin*e + sin®p + sin’y =

A(2,3,5),B(-1,3,2) %8> C(3,5,-2) o3 4% (Bafesiio @) ere St Ko
Serer 0,p $080% 7 eowd, sin’o + sin’p + sin’y =
Options :

|

I~

2 | W

b | —
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Display Question Number : Yes
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If the four pomts (6. 2. 4), (1, 3. 5). (1,-2. 3) and (6, k, 2) are coplanar, then k =
(6,2,4), (1,3,5), (1,-2,3) 8¢ (6,k, 2) o3 mrentd Dotboien $8DrTE,
odh k=

Options :

-5

Question Number : 59 Question Id : 64041112379 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
3 3 - e
. 5x7 —x"smmdx
lim =
5 , il [ -
X— —% X cos4X + f‘}{‘ —4‘?«:‘ +3

Options :
)
4
1. %
5
4
2. %
5
7
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Question Number : 60 Question Id : 64041112380 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If 11111_ f(x)=p

lm f(x)=m gpq f f(a) = k. then which one of the following
X—a X—a

1§ true ?

hm £()=p ~lim £(x)=1 g5, f(a)=k easd, & Eod 06" 36 $0?
X—a X—a i

Options :

When p-k#0and m-k =0 . then f(x) is continuous at X=a

p-kz0 28ckn m-k#0 vondid)th x=asg f(x) odY K.

When p-k=0and m-k =0, then £(x) 1s left continuous at X =2

p-k=0 58 m—k 0 sonsigyd x=as§ f(x) A5H eDYR.

When p-k=0 and yy—k =0, then f(x) 1s right continuous at x =a

p—k#0 Hoaw m-k=0 sofid x=2a 5§ f(x) %6 e,

When p—m=0and p—k=0, then f(x) 1s right continuous at x =a

p-m=0 58 p-k=0 eondd)tvo x=a 3¢ 1(x) HE ©dYPFHw.
4.
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Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

I= cozs 4x | < <0

| X
If a function f defined by f(x) =7 a, =0
v x>0

16+ -4

15 continuous at x =0 . then a=

1—00754}{ =
2
f(x)=+ a, 2=
Jx
: x>0
16++/x 4

m Drdodald feod @bdbo x=10 38 edY¥o eows, efph a=

Options :
3

-2

4. %
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If gt Tfﬂlh_l l—i i ]_’heu T

+x dx
3 H=x _dy
y = Tanh ol . o
+X dx
Options :
1
=
281 =%~
1. %
-1

2.%
X
2
ITK
3, %
|
=
%A1 Ex"
4, ®

Question Number : 63 Question Id : 64041112383 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

« W (. dy
It XE—I—VE:’[_l and X " +y =t"+—, then —=
" t t7 dx
; Ao A Bl . dy
Kﬂ+y2:t—i?‘macfm X +y =17 +— oows, =
t t< dx
Options :

1. %



X
"
Y
2
2. % X
Y
X
3. %
}Z"
X
4.9

Question Number : 64 Question Id : 64041112384 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
" - -2
If y=(ax+b)cosx. then y, +y, sin2x + y(1+sin~x) =
5 . ;13
y=(ax+b)cosx o, Yy, ty, sin2x +y(l+sin”x) =
Options:
2
y, cos”X

1. %

P
Y - s X
2.9
s
Y,sm X

3% 1
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Question Number : 65 Question Id : 64041112385 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

[f the normal drawn at the pomnt P on the curve y=xlog x s paralle] to the line
2x -2y =3 theri p -

y=xlog x %o 2 Ped oty e A08 ooty 2x -2y = 30 Ssrossorr
&0, ®RUL P=

Options :

Question Number : 66 Question Id : 64041112386 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



If the curves 3:3 —16x and 9x? + uyz =25 mfersect at right angles, then o =

2 " A " a . - »
y =16x &8l 9x” +ay =25 &3 e eong)ito Iohol, ©pd o=

Options :
6

| O

3.v¥

Lad

Question Number : 67 Question Id : 64041112387 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If the function y=smx(14+cosx) is defined n the mterval [-n, 7], then y 15
strictly increasing m the mterval

@aboko y=sinx(l+cosx), wodbo [-7, 7] & :Doba, y o o8 o

806 ©odd0
Options :
( ) (n )
—T,—— |U| —, T
L " 3)7\3
1. %
(1t 7))
LG 2)



[ T &
N FAR
3. v
Y rad \‘
) ([ _)
| i 1, W N et
&6/ 15 )
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Question Number : 68 Question Id : 64041112388 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If the velocity of a particle moving on a straight line 1s proportional to the cube
root of its displacement, then its acceleration 1s
2.8 ﬁé%‘fﬁm@ WO af) of ¥mo tﬁ:x:ﬁ:_ S0, =B %Eﬁ@o%’o cﬁwﬁ:_ HodSrerQ
©Roard0s” Bol, vipil ol &S0
Options :
constant

oleplel=tee
1.% @

inversely proportional to its velocity
y o0 I8 DSErEHTFE0S® dotnod.
2. i
proportional to its velocity

o0 I8 edardos® dotnod.

proportional to its displacement

TR FH G008 wdharsos® aotnod.
4. % P



Question Number : 69 Question Id : 64041112389 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If J.,fi“ “(I4secx tanx) dx = SNy (x)+c. then n (< x <27 the number of

solutions of f(x)=11s
J X (1 4 sec x fan x) dx =e™¥f(x) +¢ saxd, (<x<n & f(x)=1 i)
T Sogy

Options :

Question Number : 70 Question Id : 64041112390 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

-=4/f(x) +c¢ then f(-1)-£(0) =

Itj( l}ph 3

dx .
. — = JI(X) +¢ vong, odd f(-1)-1£(0)=
I(K—l}j"z(x—.@)l’j (x) +¢ sowd, o9t £(-1)-1£(0)

Options :

-3

1. %
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—2
3. %

—1
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Question Number : 71 Question Id
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Correct Marks : 1 Wrong Marks : 0

: X
=
J(l—xj)\JZ—xz

Options:
2
v2-x° +1
log C
>
Zoem )
1. %
=
| 2—x-
—log —|+c
2 I
2. %
1+2-x7
;iog +c
. ; 2
I I —-N2-—%
3.
z
=%
log C
2
2 =X

: 64041112391 Question Type : MCQ Option Shuffling : Yes



Question Number : 72 Question Id : 64041112392 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

J‘_F l—x—\f}ierj
[—«Jl+:{
X

dx =

/

Options :
1
—afbh X6
2
1.
3/2
—(l4x) Fe
2.¢

Question Number : 73 Question Id : 64041112393 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



a3 | ]. .
If Jx cos“xdx = EHX) +g(x)sin 2x + h(x) cos 2x +¢

%
\

; ( |
then f(1)+g(2) Thi =

/
s

g, g ]. 5 o =
Jx“ cos” X dx =—1(x) + g(x)sin 2% + h(x) cos 2X +¢ ©and , v

e a (Y
1(1)_5!(2}_115,]_
Options :
0
1. %
2
2. ¢
1
3. %
-1
4, ®

Question Number : 74 Question Id : 64041112394 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

n/2

¢

[ log|tan x+cot x| dx=
0

Options :

mlog 2
1.v



3. %

Question Number : 75 Question Id : 64041112395 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

% 5 6
[x. sin X.cos Xxdx=
0
Options:
16
693
1, ®
Ll
693
2. ¢
47
693
3. %
27
693



Question Number : 76 Question Id : 64041112396 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

142 1
[ : dx =

12 [K—FE](I—KE)

Options :

log (\/3 +1)

log (v/3 -1)

2. %

log (3++/3)
3. %

10g(3—x/§)
4, &

Question Number : 77 Question Id : 64041112397 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The area of the region (1n sq. units) enclosed between the curves y= ‘x‘ y=[x]
and the ordinates x=-1,x=0, x=11s
V:M y=[x] Sper 8w x=-1,x=0, X=1 o3 88a vondye 5
eBosnds (Frodo Gw¥) BP0 (Si dirge’)
Options:

2
1.¢
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Question Number : 78 Question Id : 64041112398 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

d
The general solution of the differential equation éJr Xy =4x -2y +8 ig

d
wdged $EsHo £+ Xy =4X =2y +8 Gt gt JhS

Options :
y=4-ce 2
1.9
2
X -2x
y=8+ce 2
2. %



Question Number : 79 Question Id : 64041112399 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The general solution of the differential equation (x + g\;-*)d_} —v=0.V>01s
“odx

©io8 540 (x+2y3)ﬁ—y:0, y>0 G Foeb PO

dx
Options:
3
y—=X"+cy
1.% 7
3
X=Yy +cy
2.

y{l—xy)=cx

x(l—=xy)=cy
4, %

Question Number : 80 Question Id : 64041112400 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

. o . Oy xRl
The general solution of the differential equation YR
5 dx x-3y+5

G Bl e oot
dX X _3}'_—5 <
Options:

3(y—1)7 —2(x+2)(y=-D—-(x+2)* =c
1.9
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Question Number : 81 Question Id : 64041112401 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the maximum and mmimum temperatures at a place on a day are measured as

44°C+0.5°C and 22°C+£0.5°C respectively, then the temperature difference

22°C£0.5°C won¥, adf(fe o
Options:

22 W = TR

1.4

X®43y" +4xy+2x+10y =¢

Physics

640411265
2

Online
Mandatory
40

40

40

0

1
640411265
Yes



Question Number : 82 Question Id : 64041112402 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

[faball projected vertically upwards with certan intitial velocity from the ground
crosses a point at a height of 25 m twice 1 a time interval of 4 s, then the nitial
velocity of the ball 1
(Acceleration due to gravity = 10 m s7)
e Hob Eod &9 o8 Ao 28 Q608K X 208 25 m A& Ko 2
DoHd 45 Taéﬁ@éﬁ B0t dB, © o8 & o
(0% &¥wo = 10ms?)
Options :

20 m s™!

1. %

30 m s
2. %

40 m s
3. %

25ms!
4. %

Question Number : 83 Question Id : 64041112403 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If a particle of mass 'm' covers half of the horizontal circle with constant speed
'v', then the change 1n its kinetic energy 1s

B8 Ddrost ée};&:ofa 3 ey (Boed 'm' Ho 2.8 Ewo fgt’a 36 'V & HlrdR, =R

, » Ze10 (o)

2mv?

1,
—mv

Question Number : 84 Question Id : 64041112404 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A car 1s moving with a velocity of 4 m s~ towards east. After a time of 45, if it is
heading north-east with a velocity of 42 ms, then the avera ge velocity of the
car 1
2% o8 4ms? FKos Srdl) B Edendyd. 4 8 swo écrzé ob Gy o
4\/5 ms? 308 Xhenir dol R St o

Options :

2.5 ms™
1. ¢

- = -1
5
- a\/_ ms



43 ms™
F

3

53 ms™
F

4.

Question Number : 85 Question Id : 64041112405 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Abody of mass 5 kg starts from the origin with an initial velocity (30i + 4Uj} ms™.

!

If a constant force —(; +53)N acts on the body, then the time in which the

y-component of its velocity becomes zero 1s
= o , : - i & | # .'1
5 kg BEod Ao of S5 dredohy) Hob &0 Jro [JUI+40,I)1115 &

n0hensoss. © O F R 36 200 —(1+5))N mamj 508, T o Gwd

V-©080 &) ©HH% S oo
“ ¥

Options :

1% D8

20 s

2. % =

40 s

80 s
4, ®
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Ablock of mass 10 kg moving with a speed of 51 ms™ ona frictionless horizontal
surface suddenly explodes mto two pieces. If one piece with mass 4 kg moves

with a speed of 10i m s, then the velocity of the second piece is

24 SR Boe im0t doop 10kg Bied o o 63 5 ms 368° Lheniss
oEFE™ Both Ewdeor 2088, (8508 4 kg &) o8 &%) 10i ms* 388
Eenthi) Goile, ok 5’):05& H&

Options :
7.67 ms™

1. %

1.67 ms™!
2.

- 6.67sms!

2.67ms!
4. %

Question Number : 87 Question Id : 64041112407 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
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The bob of a simple pendulum of length 200 cm 15 released from horizontal
position. If 10% of its mutial energy 1s lost due to air resistance, then the speed of
bob at the mean position 1s

(Acceleration due to gravity =10 m s?)
200 cm 8°ES Ko ok oindie¥ Hotkhd 8w Sirodd %5%0 08 8%,
AB%o Sok R &0 6% 10% sgdons, Sl o 9 o thoth 56
(o5& &80 = 10m 52

Options :

6ms’!
1.9



3ms’!

2. %

12 ms!
3. %

2ms?!
4. %
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Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A steel sphere of radms 1.2 cm collides a second steel sphere at rest. If the
collision 1s elastic and after the collision the first sphere contmues to move i its

mitial direction with a velocity of 9 times 1ts mnitial velocity, then the radis of

the second sphere 1

1.2cm a-g%ﬁg’o Ko 2% ﬁﬁ:&ﬁséo &m&:&;@a‘?ﬁ &%) Bois &) R0 &E"Eﬁ&ﬁ. ©dimdo

: 7 :
%&%éﬁ@, 5000 edirdo $had 2nsé Féo o & Irrdd 5 Bt Sho& o=

0B (Hokrdofs, Dok o wa%go

Options :

1.8 cm
1. %

2.4 cm
1.2 em

0.6 cm
4, &



Question Number : 89 Question Id : 64041112409 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Ratio of angular velocity of hour hand of a watch and the angular velocity of
rotation of earth 15

KBarS06™ Kobe dney S IreR8, ol Gk (e E%a% ImRE Ke 98

Options :

Question Number : 90 Question Id : 64041112410 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If two bodies of masses 2 kg and 3 kg are moving at right angles with velocities
20ms™ and 10 m s respectively, then the velocity of the centre of mass of the
system of the two bodies 1

2 kg o8 3 kg (@rdhen Ko Botd Sipder S&Rre 20 m s bl 10 m s~

Irod® vonorr [Hdirdoibidy), e Bokb Se ¥ £33 (o8 oo ¥ o
Lod U

[

Options :

Sms!
1. %



30m s!

10 m s™
3. %

14m s
4. %

Question Number : 91 Question Id : 64041112411 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The kinetic energy of a particle executing simple harmonic motion af a
displacement of 3 cm from the mean position 15 4 mJ. If the amplitude of the
particle 15 5 cm, then the maximum force acting on the particle 1

S8¢ Fod¥ dodo Tadn) af Eno G Seeins 5560 %08 3 cm %ﬁﬁ@ﬁoéo
38 Emo How 48 4 ml. Emo Lodd 08 5 cm eowd, Lnop DD 183
200

Options :

025N

Question Number : 92 Question Id : 64041112412 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



A body of mass 1 kg 1s attached to the lower end of a vertically suspended spring
of force constant 600 N m. If another body of mass 0.5 kg moving vertically
upward hits the suspended body with a velocity 3 m s~ and embedded in it, then
the frequency of the oscillation 1s

600 N m™ ze Jomogo E0N Rlesigrr Bertibobnds o¥ E”ooj,oﬁ Bod 0588 1kg
o8 Ho o 5% $AD0URERR. 0.5 kg B8 Ko D6 S5 §8 eonorr
28 S0, Fertbatnds $%9% 3 ms? 3Kes 450 wod’R ald ok,

8 S %“6585’;)?650

Options :
5
— Hz
T
1. %
10
— Hz
T
2. v
T
—Hz
5
3. %
m Hz
4, %

Question Number : 93 Question Id : 64041112413 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If the angular velocity of a planet about its axis is halved, the distance of the
stattonary satellite of this planet from the centre of the planet becomes 2" times
the mnitial distance. Then the value of 'n' is

8% ofo dore a8 (fiFo ng) Sdoh Ffo Sifo wowd, © (1 ZoBo Hod &

‘359“36 ediero @n¥) rbo &0 roeRE 2 By oo '’ ensd
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Question Number : 94 Question Id : 64041112414 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

When a wire of length ‘L’ clamped at one end 1s pulled by a force ‘F’ from the
other end. 1ts length increases by ‘L’. If the radius of the wire and the applied
force were halved, then the increase m 1ts length 1s

6% L o o8 8K Do) 2.8 8 dnodal, oks 8% F 2008 AR o
PiHE" whibee L. & ot dbai 813 HRTRS ook Sifo ZRE, © &Y
PEHE e
Options :
31.

1. %

4L
2. ®

1.5L
3. %

4.
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Question Number : 95 Question Id : 64041112415 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A liquid drop of diameter D splits mto 3375 small identical drops. If S 1s the
surface tension of the liquid. then the change m the surface energy in the process
18

&R0 D Ko o8 (B85 Dothsy 3375 Skamd 08 dotbiyenre HNKDEG. (5

S0888 S oand, & (HBEHE" Suds D Srth

Options:
AAT2S
_— 44D-S

447 DS
2. %

56D-S

56t DS
4. %
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When a sphere 1s taken to the bottom of a sea of depth 1 km, 1t contracts m
volume by 0.01%, then the bulk modulus of the matertal of the sphere 1s

(Acceleration due to gravity = 10 m s7)

1 km 6% Ao Ssoo e el of e 889 R 3 ol oRdeEPmo

[=S

0.01% $08%50 BohKA, ©and ¥ Srds wdhds fhe¥o
(1% &éwo =10ms)

Options :
, 10 x 10°N m™

12 % 10" N m?
10 x 10 N m™

10 < 101 N m™

Question Number : 97 Question Id : 64041112417 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If a gas of volume 400 cc at an initial pressure P 15 suddenly compressed to
100 cc, then 1ts final pressure 1

(The ratio of the specific heat capacities of the gas at constant pressure and constant
volume 1s 1.5)

&9 iis%o P wtﬁ Ko 2% saind tﬁ;\."* 8385me0 400 cc %08 100 cc o%
sdmrr Sobigo T8, o &b bisko

[?&35 bisso $Bak ?goé R8I0 S aeck &)%Ezo.\ T 38 1.5)

Options:
1. %
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Question Number : 98 Question Id : 64041112418 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A Carnot engine having efficiency 60% recerves heat from a source at a
temperature 600 K. For the same sink temperature, to increase its efficiency to
80%, the temperature of the source 1

60% 858 o o8 =6 aholgo 600 K adfe S8 e S0, o8 ddedad
eS8 58 of BEE% 80% % Dohed aolSuds agpdch aafls

Options:
300 K

1. %
900K
2. %

1200 K

3.¢

720 K

Question Number : 99 Question Id : 64041112419 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A gaseous muxture consists of 2 moles of oxygen and 4 moles of argon at an
absolute temperature T. Neglecting all vibrational modes, the total internal energy
of the mixture of the gases is

23rd0 eljd B 4 Frdo eorde SOAK 2.8 sdiy B(Eo Gng) S el
T ofy Xoskbot 9887, ke § (0 Tk Amdo wodd €4

Options :

4RT

1. %

15RT
2. %

ORT

I11IRT
4.

Question Number : 100 Question Id : 64041112420 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The average translational kinetic energy of the oxygen molecules at a temperature
0f 127 °C1s
(Boltzmann constant = 1.38 «<102JK)
127 °C a8 58 elyas smipe St ﬁgmoéﬁsa Hee €8

& 5;6,5 doto = 1.38 x103JKH)

Options :

4.07 x 102 ]

1. %



207 < 1072.]

8.28 x 102 J
3.¢

8.00 x 1021 J

Question Number : 101 Question Id : 64041112421 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The speed of a stationary wave represented by the equation

y =0.7s1n|

— —_._.

T

— 1005( 350 mt) is

e

(In the given equation X and y are in metre and t 1s in second)

(Tr )
y=1). 7’5111| TX

bt /

cos(350 nt) & LrDotnds ¥ 28 &dorio 56

(35288 $E88os” X 8 Y &0 Hwd &8 Hbako t WEE &°)
Options:

100 m st

150 m s

160 m s

200 m st

4.+



Question Number : 102 Question Id : 64041112422 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Two thin convex lenses are kept i contact coaxially. If the focal length of the
combination of the lenses 1s 4 cm and sum of the focal lengths of the two lenses
is 18 cm, then the focal length of the lens of low power 1s

Both JK)0 Hogred Sbwel w¥mll HTED iy SEfor vdod. Shse
SoGriio Tarsosdo 4 cm Hbdkn Boih Lbse Tamodoe Indo 18 cm eowd,
8858 ﬁvcfwgao Ko Eo¥ Trgro8o
Options :
8 cm

1. %

10 cm

6 cm
3. %

12 cm

Question Number : 103 Question Id : 64041112423 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

For an observer on the earth, if a spectral line of wavelength 6600 A emitted by
a star is found to be red shifted by 22 A, then the star is

i o o8 $Blukis, 2.8 8Ydo el 0% 6600 A 8@ 20 Mo 2.8 e
op 22 A otm DKo ToBdey K80, & S0

Options :

receding away from earth with a speed of 9 < 10° m s

9 x 10° m s1H588° 5o Koo& Srdorr ZeHeothd)d

1. %



receding away from earth with a speed of 10 * 10° m s

10 x 10° m s 588° 5o 008 Srdorr Eenthd
2. ¢

moving towards earth with a speed of 9 ¥ 10° m s}

0 x 10° m sS85 2570 39 ErenHdd
3. %

moving towards earth with a speed of 10 x 10° m s

10 x 10° m s 388 5080 3 $%enhdd

— L=

4, %

Question Number : 104 Question Id : 64041112424 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Three particles of each charge q are placed at the vertices of an equilateral triangle

of side L. The work to be done to decrease the side of the triangle to 3 18

—

%@ ‘q w0 Ko S

h.Tu'

L dhao Ho ¥ dderi (Bibao Srtd ’f‘jz:P E,QS
L
ol domd. ([BHuo @) sjafvoéa 7 % dNohd Sohseds BR

Options :

4neg, L

1. %

L 2"
4ne, L

3.¥



1 5§

dne, L
L 3¢
", B
4, ®

Question Number : 105 Question Id : 64041112425 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The radu of the mner and outer spheres of a spherical capacitor are § cm and
9 cmrespectively. The outer sphere is earthed and the inner sphere 1s charged. If
the space between the concentric spheres 1s filled with a liquid of dielectric
constant 5, the capacitance of the capacitor 1s

% Feeoed Tarhid c“ma:’;&aoéé 2805w e e a‘;&c;a:o %% 8 cm 080w

E)

9 cm. o= ﬁ%‘-&& 4808 0%, wodd ed) e388H0eth. S AL oo ol
@$BR) 5 6% horodo Ho of (§508° Aodi, Barded Gnd) 2arbBY)
L L

Options :

400 pF

1.4

., 40pF

400 uF
3. %

40 pF
4, %
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If 27 charged water droplets, each of radius 10~ m and charge 107* C coalesce to
form a single big spherical drop, then the potential of the big drop 1s

5% 1012 C wado HBck 107 m @’5‘60 Ko 27 €388 D8 Hodrgen %09 o.%
Bl ﬁs'a‘:‘b Dothyrr A\EK, © 2 Dol @) PENHS

Options:
oV
#®

L x 27V

39V
3. %

81V
4.

Question Number : 107 Question Id : 64041112427 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A straight wire of resistance 18 Q is bent in the form of an equilateral triangular
loop. The effective resistance between any two vertices of the tramgle 1s

18 Q080 Ko 2.8 890 & ¥ Shwir [Bipersd arbr Sosnbid. (Bideo
Go¥) P Botd dose oy (Serard &% R8%0

Options :
6 Q

1. %

30

1Q

4.+
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Question Number : 108 Question Id : 64041112428 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The power dissipated by a uniform wire of resistance 100 Q when a potential
difference of 120V 1s applied across its ends 1s
100 Q 25°80 Ko 2.4 D268 &K o St 120V 5’3“93&*&“135 580 Stblaloty
&8 scbiinGy w:“s’):g;o

£

NeY

e

Options :

122 W

144 W

2. ¥

160 W

200 W

Question Number : 109 Question Id : 64041112429 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
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If a straight current carrying wire of linear density 0.12 kg m™ is suspended in
mud air by a uniform horizontal magnetic field of 0.5 T normal to the length of
the wire, then the current through the wire 15

(Acceleration due to gravity = 10 m s Neglect earth’s magnetic field)

0.12 kg or' S0ch Folss 2OR, kS (SR KOACKHN) of 890 6K ol

BE5:9% oomorr #0g 0.5 TE08 88e Sirods edbinod FewR) ad@rhod moE’

I

8088 Sioe dotity TRK, © 8K oo 2SS
(%8 &8mo = 10ms™; gf» ©chiFod ZEo HBoiIn)

Options :

48 A
4. ®

Question Number : 110 Question Id : 64041112430 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Two concentric loops A and B of same radius 27 cm are placed at right angles to
each other. If the currents flowing through A and B are 3 A and 4 A respectively,

then the net magnetic field at therr common centre 15

a=- %‘50 2mcm DA% Both ¥ Zol erBer A 5bcko B a4e0S%4d eoworr
©0d0bsd. AHbdn B o Deipd (Garifen S%Rm 3 Adbdin 4 Aw, ood &
orDY el Zoo S8 Q58 edbarod ggo

Options :



0.75 x 10T

, x 25%x10°T

5 % 10°T
3.¢

25% 10
4. %

Question Number : 111 Question Id : 64041112431 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A short bar magnet 1s placed in a uniform magnetic field of 2 T such that the axis
of the magnet makes an angle of 45° with the direction of the magnetic field. If

the torque acting on the magnet is 0,362 N m, then the moment of the magnet is

2.4 @“% BorrcdarosoRh T sEo of X086 eddirod g¥o 2 T ad% 45° =00

(=

32 Do somTd. SloviylelloFs S0FcmDHG é.r-‘S; 0,36\/5 N m. ©ong &:-ct’::;%‘;oéo
@0¥) (gredo

Options:
0:54.J T
0.18J T

072 7T

036JT!
4.



Question Number : 112 Question Id : 64041112432 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A horizontal telegraph wire of length 30 m spread east to west fell down freely
from a height of 20 m. If the resistance of the wire 15 40 Q and the horizontal

component of the earth’s magnetic field at the place s 2 « 107 T, then the mduced
current when the wire reaches the ground is

(Acceleration due to gravity = 10 m s)

srd) Kool HGHDH O98ed% 30 m FEH Ko of B &5 20m a8 Sood

£

&

?:Joz@m Boh8 HEXB. &K D5°%0 400Q) SBcm © @3%0@5 e © ’*%&oé &6

ssrodrodo 2% 10° T wows, © i Juk D683 (268 D& (Samiro

(e &desin =10m 7

Options :
0.3 mA
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In an LCR series curcmt, 1f the potential differences across inductor, capacitor
and resistor are 60 V, 30 V and 40 V respectively. then the ac voltage applied to
the circuit 18
2% LCR (38 Sechod® (@850, Taxhnb Hodn M6%ke & FEYMS Fre
Sxre 60V, 30 V 8 40V, sonk @ SooinR isBosaRs ac 552
Options :
1 ¢ 0V

70V
2. %

130 V

60V
4. ®

Question Number : 114 Question Id : 64041112434 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A plane electromagnetic wave of frequency 25 MHz propagates in vaccum along
posttive x-direction. Ata particular point m space and time, 1f the electric field 1s

6.3 jV m", then the magnitude of the magnetic field of the wave at this point at
the same time 13

é‘ée@é;o 25 MHz o 2% $d8e &dﬂ:&écﬁa&;oéé $80l0 wodTdodt tﬁmé&ﬁ
X-B3& 980:hhi)B. ol ;%‘5?60, S0 $ T Deiyd E;{géo 6.3}\-"111'1, ©and
o3 %qj‘éo 580k ©8 Teo 5 8Bolio Gl edhiod 28 $8rmo

Options :

2. 1%10°T
1.9



AT T
2. %
63x10°T

84x10°T

Question Number : 115 Question Id : 64041112435 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A particle of mass 8 [1g in motion collides with another stationary particle of
mass 4 pig. If the collision 1s perfectly elastic and one dimensional, the ratio of
their de Broglie wavelengths after collision i

Sosod® &%) 8 g Eed fo af ¥mo ﬁ{j@?&ﬁé‘s of) 4 g B8 o HE¥
£l &E‘*@L&. edimdo D4 ?g@%:éﬁo oawd, edirdo $%as =8 & (rdh

Ve M

T, , :
$doliges o Afe

L

Options :
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1. %
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The difference between the frequencies of the first and second Lyman lines of
hydrogen atom 1s
(R - Rydberg constant and ¢ - speed of light i vacuum)

?@5&5 58PN E0 T S8k Bokd Badw B éﬁ“m?’“.g:m;a: 5%0

(R - 855 &orofo H0Bdkn ¢ - é:%&oa?s 508 $6)
Options :
9Rc
% 28
TRc
12
2. ®
3Re
3. % 8
SRe
36
4,

Question Number : 117 Question Id : 64041112437 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If the half-life of a radioactive element 1s 12.5 hours. then the time taken to
disintegrate 256 g of the substance mto 1 g 1s (in hours)

2.4 3&@?&6&5 Sore &ﬁg 208 woo 12.5 Kowen, vond 256 g Hwdo
1 gre Qiniado Bok=RE a’:&é':."@o (Kotred®)

Options :
12.5
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A transistor works as an amplifier when
2.8 [E=RQ)R0 SgEorr HQTS0ed
o @
Options:

emitter-base junction 1s forward biased and base-collector junction 1s reverse
biased

&m{;éﬁo—&wéo leln @Sséﬁéoé’smv L8050 errdo-2%0d Hod ,355,55?@5*3@

aod.
1.4

both enutter-base and base-collector junctions are forward biased.

ﬁm;&ﬁo—&cwéo $08050 erdo-2%88 Dotk Joer éﬁaéﬁtpé& aod.

both emutter-base and base-collector junctions are reverse biased.
ﬁcg&ﬁo—@wéo 50800 erbo-n%8d Bok Soer 685°8%08° aomd.

d
[

emitter-base junction is reverse biased and base-collector junction 1s forward
biased.

ﬁcgéfo—@véo el @é%ﬁéﬂ@eﬁ"“ 586k errdo-2%8B $od @55%5@0@%

a0,
4, #
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If five logic gates are connected as shown 1n the figure, then the values of y . y,
and y, are respectively

Y

ot 88) oo St008° $pB Qorr Zendnbs Y, ¥, 06k y, devsden H&idre

Options:

iy |

1.¢

0.0 1
2. %

1,1,0

101
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In amplitude modulation of waves, the maximum amplitude 1s 30 mV and
mimimum amplitude 1s S mV, then the modulation mdex s

gorre ¥oisk KBS SrinBESE’, KBy Zoisd B8 30 mV Bty ¥R Kos¥

L)

5608 S mV. vons mcﬁxé”‘s S

Options:

4
1.8 7
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2. % 7
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7
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The uncertamty m the position of electron (Ax) 1s approximately 100 pm. The

uncertainty in momentum (in kg ms™!) of an electron is [h=6.626 154 Js]

a8 639;|§35 @8 cﬁ?eﬁofﬁ eddiddo (Ax) Hirhre 100 pm ©oua D,.-Q’_)FEN @n¥),
gﬁaﬁrﬁo (inkgmsT) & of&Eso [h=6.626 x1074 Js ]

Options :
1.104x107

0.527 %102
2. %

0.527 <1074
3. ¢

. 1.055x10™%*

Question Number : 122 Question Id : 64041112442 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following statements are correct ?
Bob o argapen $BEH ? (only = Srgah)
I)  The energy of hydrogen atom in its ground state is—13.6 eV
c,.ame“ﬁﬁﬁ RS SESred g8 -13.6eV

II) On the basm of Bohr's model. the radius of the 3" orbit of hydrogen atom 1s
158.7 pm

56 ddr egedore, PEES H8SEaD u:mﬁég 38 ﬁ& 53 -*“-‘vgo 158.7 pm
IIT) The order of radius of the first orbit of H, He tLi%and BT is H>He' >

12> B3t
H.He', Li*" 6at Be’ o 3ni88 88 5 angope (S H>He' > Lit* >
Be*”

Options :

IT & IIT only

1. %



5 o I & III only

I & IT only
3. %

, % LILII
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Which of the following orders 1s not correct about the property shown against 1t?

808 Edres® 26 JHGr G C-SD?@.&’% Hozobod 5806 =th ?

Options :
N = O = P = § - First 1onisation enthalphy

—_ = L.
N=0=P=S§ - 5 e@cﬁmgﬁa’m aJogrd))

F-(C/~Q =S - Negative electron gain enthlapy

F>Cf>0>8S - 6wéu§ .53@@*5 (e @'D@‘ﬁﬂ{
2.V

3. %

O =N =S = P - Non-metallic character

n O>N>8>P -85 oo
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Consider the following changes I and II
[Bob srten I shBckn IT o H6KBE0m5w

03¢0, ]>0§

The correct statements about these changes (I) and (II) 1 accordance with MO
theory are

MO ?:c:goéo o, & (I) Shbain (IT) Srpe Homofod JBK aegpgen

L E

(only = $m|#5h)

A) In (I) bond order mncreases by 0.5 from the existing value
(1) & 2otiEso &5 ) Dendip 0.5 2brH&od.

B) In(II) bond order dec1eases by 1.0 from the existing value
(II) &° moggaho &y Henisp 1.0 Srpeod.

C) InDboth (T) and (IT) magnetic property is not changed
(I) 605 (II) Bolode® &ﬂcﬁjméoé Qﬁééo S8,

D) Inboth (I) and (II) magnetic property is changed
(I) 8050 (II) BoBode&® Clonkylel: 80 SrthEod.

Options:
A.B & Conly

1. %

A & C only
2.

A & D only
®

B & C only
4, %
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The increasing order of number of lone pair of electrons on the central atom of
the following molecules 1s

; ¢ ; 5 =
BotS maimbd oHos? Sl HESmend) i aob a8 Juese 2ogy 6N (B

I) C/F II) XeF, I1I) SE4 IV) SiH 4
Options :
IV<II<II<I

1. %

, ¢ ISI<II<IV

M<I<II<IV
®

IV<II<I<II
4.+
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Which of the following is correct for an ideal gas ?
Bob BE° 06 8y srandS ¥Bds ? (constant = 25E)

Options:
n. T constant
e
P
N—
1. %



V.n constant

V. T constant

n—
3.¢¥

P.n constant

| =
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Correct Marks : 1 Wrong Marks : 0

At 256 K, rms speed of SO, gas molecules 1s 316 «10% ms~! What is the most

probable velocity (in ms ) of same gas at same temperature ?

256 K 85 SO, st oo ms 3o 3.16x10°ms™. od ssfes 58 of

st

SO0 0% HB5) Nograked 30 (ms ™! of®) Jos ?

Options:

2.911x102

1. %



2.58x10%
2. %

5.16x10°
3. %

1.29x10°
4, %

Question Number : 128 Question Id : 64041112448 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
209 g of an element reacts with chlorine to form 315.5 g of its chloride. What is
the weight (in g) of oxygen that reacts with 418 g of same element ?
(C£=35.5u;0=161)
209 g © &8 Srosin £058° S5Tob 315.5 go wd §0ED 28BS, 418g ©

o7 Siredsing 3 {ielaY s8ed grtio (g o6t) do% ? (CL=35.5u:0=161)

Options :
1% 24

2.« 48

Question Number : 129 Question Id : 64041112449 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Constder the following

Bob ER HBHBohL.

Statement-I : During 1sothermal expansion of an 1deal gas its enthalpy
decreases.

ey -1 t pk s.—sfﬁf:%: T @xﬁ;ﬁ&wéai; 55068, o “ow‘b ém

Statement-II : When 2.0 L of an 1deal gas expands isothermally nto
vaceum, AU =0.

ey -1 s 201 &&56' o) Saraforr @J‘Ef) 068 ;?éo DobSaped,
AU =0

The correct answer 1s
é&@:c‘é BT

Options :
Both statement-I and statement-II are correct

. aeggy-1 08 spgyr-1l Bodir HBERL.
1. o =~ IR - B

Both statement-I and statement-II are not correct
:T;S{J;-I 0B 91‘5853;-]:]: Bolr JBEHRd ==.

Statement-I 1s correct. but statement-II 1s not correct
w;sp;-l LBTR8, =R -‘ngaa-ﬂ SBTRG =°%.

Statement-I 1s not correct. but statement-II 1s correct

F;S:;:-I DBTHS =%, =0 -1 HBTHRS.
4._\:;; ol — [ R o

Question Number : 130 Question Id : 64041112450 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



The energy required to increase the temperature of 180 g of liquid water from
10°C to 15°C1s 3765 J. What is Cp of water in T mol ™ K71 2 (H,0=18u)
180 g & (155 &8 afi8 10 °C $o08 15 °C  DoSced8 seonis €8 3765 . W
& : Tmol ! K e dos ? (H,0=18u)

Options :

Question Number : 131 Question Id : 64041112451 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

At 25°C, the percentage of 10nization of x M acetic acid 1s 4.242. What 1s the pH
of the acetic acid solution ?

(log4.242=0.6275): (log 0.04242=-137)) (K. =18x1075)
25C 88, x M 8o echlitdn wéin 4.242. b6y 3wy pH os ?
(log4.242=0.6275): (log 0.04242=-137)) (K. =1.8x10"")

Options :

o 337

1.70
2. %



Question Number : 132 Question Id : 64041112452 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
At 298 K, the value of K _ for the following reaction is x mol I+,

What 1s the approximate Kp value for this reaction ?

(R=0.082 L atm mol™! K1),
298 K 5, (Bod 8% K_Desss xmol L.
& Kp Dend orordre 2o ?

(R=0.082 L atmmol' K™}, g ==ct)

Azoﬂl(g):lﬂh (g)
Options:

24.4x

Question Number : 133 Question Id : 64041112453 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



H,0, with KMnO, in acidic medium gives a manganese compound X' and in
bamc medium Eﬂﬁ‘: another manganese compound 'Y'. The oxidation state of
manganese in X and Y, respectively are

H O ] KMnO & s ardbod® X' e o $roids "'EL %%ESJM Zrlelalin alow)
S d:ﬂ‘@éoéﬁ V' 0 5% &roidD &ﬂﬁ‘“‘é“‘ srpof. Xanbdho Y o6’ Sroldh
s_aﬁgééea neben HHHT

Options :

v TN
+4, +2

2. %

3 x T

L x 413

Question Number : 134 Question Id : 64041112454 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following orders are correct agamst the stated property ?
e I@bs Hoyds (ot sikebs Edros® H8@E0 29 ? (only = &ri$D)

I) NaO, <KO, <Rb0O, < (Cs0, - stability
%t‘ié&&ﬁ)}
II) Mg(OH), <Ca(OH), <Sr(OH), - basic strength
ealole
IlI) MgCOj; <CaCOy <SrCO; - thermal stability
ﬁo_,{ rJ‘SF‘s\O
Options :
1 » I&ITonly

IT & III only
2. %



I & II only
3. %

[II & III
4

Question Number : 135 Question Id : 64041112455 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In the structure of diborane. the number of 2-centre-2-electron bonds 1s X and
3-centre-2-electron bonds 1s Y. The value of (X +Y) 15

&

g F o 5 -, = ¥ . 5 - =
G600 Aomemod®, 2-So¥-2-auEa aopre dogy X fibain 3-So(é-2-deged

3
ogro dogg Y. (X 1Y) dendd

Options :

1.% 2

Question Number : 136 Question Id : 64041112456 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Match the following
|Bob H esbdod

List-I (Compound) List-IT (Use)

erdae-1 (S3y#do) eedae-1I (sarKo)

A) Kieselgiuu* I) Chromotographic material
€565 S5 K5 Soegein

B) Silica gel II) Softening of hard Water
HOseEd 88 asond) Syt éﬁ@:oﬁzé

C) ZSM-5 I1I) Filtration plants
ZSM-5 SRS dhosrroeed

D) Hydrated zeolites IV) To convert alcohol directly
Sl Rlasialoy info gasoline

CIOEEY e DS SrE 08

The correct answer 18
2BahY Nirprbo
Options :

A-IV, B-III. C-II, D-I

A-IV. B-1. C-IL. D-IIT
2. ®

A-IIT B-1V. C-1. D-II
3. %

A-III, B-1. C-IV. D-II
4.

Question Number : 137 Question Id : 64041112457 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the air pollutant which m high concentration leads to stiffness of flower
buds ?

o) 05w seenBo @68 H0remod” Giliph K;w@ﬂng@; HEmser8 m&é@o& ?

Options :



CO
S0,

3.x €O

CH

Question Number : 138 Question Id : 64041112458 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of primary (1°). secondary (2°) and tertiary (3°) alcohols possible
for the formula C.H,,0 respectively are
C-SleO @“&Lmé g‘)ﬂ:ﬁ"oé |3._h£> (1°), 2%otld (2°) Hboin Ex’g:pﬁgf: (39) f_aa:gﬁﬁ@
ogy Hdre
Options :

3.0 7

1. %

Question Number : 139 Question Id : 64041112459 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The catalyst used for the 1somerisation of n-alkanes to branched chain alkanes is

~
o)

-0 FHaD Soge ST)ReNT i‘mcﬁﬁgééﬁo D008 =G SE)5E0
(Anhy : oz()

Options :



Anhy AICI; /HCI

TICJ"_J; + RSAJF

Question Number : 140 Question Id : 64041112460 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

An element crystallizes in bec lattice. The atomic radius of the element is 2.598A.
What 1s the volume (in c1113) of one unit cell ?

2. Siredsn bee erodsnst é;-ﬁ?%ér_’:eao Bothin. Srels H8sren ;mugm 2.598A

: I - 3 - ‘
.8 dhrERe 26 Haabarso (cm of®) dod ?
Options :

6.4x10722

1. %

, x 2.16x10%

216x10722
3. %

2.16x10~%4

Question Number : 141 Question Id : 64041112461 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



A centi molar solution of acetic acid 15 50% dissociated at 27 °C. The osmotic
pressure of the solution (in atm) is (R = 0.083 L atm K™ mol™)

27 °C 88 o8 208 3rerb i Ho 88 oo 50% Diptrdo Jobod. © (o

E¥) (B8 Siso (ameos®) (R =0.083 Latm K™ mol ™)

Options :

1 0.37

Question Number : 142 Question Id : 64041112462 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

At 300 K vapour pressure of a pure liquid. 'A' 1s 70 mm Hg. It forms an ideal
solution with another liquid B'. The mole fraction of B in the solution 1s 0.2 and
total vapour pressure of solution 1s 84 mm Hg at same temperature. What 1s the
vapour pressure (in mm) of pure liquid Bat300K?

300K 55 28 1 (550 G arydisso 70 mm Hg. =6 B o HEE (5508 e
@eseR)) 2808 desoft B ¥ 3re grifo 0.2 5Hbasn ©8 ﬁs;ﬂ_rieé inflagale
dngo e &imcﬁ b0 84 mm He. 300 K &g ¢ o B aw) art) atdo (mm es)

2o ?

Options :

1 140



Question Number : 143 Question Id : 64041112463 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The specific conductance of 0.05 M NaOH solution is 0.0115 S cm™. What is its

’ 7 e
molar conductance (A,..) m S em” mol Lo

m

0.05 M NaOH |smsp 985 €8 0.0115 S em™l. ood 3rerd avsfedd

(Ag) S cm® mol™ eé® do ?

Options :

Question Number : 144 Question Id : 64041112464 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Consider the reaction given below

S0l a@bd S8 H6KHohw.

A+2B——3C+2D.

If rate of disapperance of B1s vx10™% mol L™ s™%. _ the ratio of rate of reaction

and rate of appearance of C 1s

B H0GRKE nﬁj tmd é %cm ) Dén xx10°° molL i &,on:«f.., {55555@?_-“3 s0bain
a,iﬁfg otnd e &) sy

Options:

1.\_?,1:3



2. ®
| .
3. %
A |
4, ®

Question Number : 145 Question Id : 64041112465 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

: MCQ Option Shuffling : Yes

Identify the catalytic reaction in which both reactants are in different phases.

BoSreisseen 3% 3 FrdHes W) t%ée;ﬂﬁé S5 1hBood.

Options :
Ammonia svnthesis by Haber process.

- rab Qrrdsns® o35 Sogies

Synthesis of sulphur trioxide by lead chamber process

. 86 groab orddnd? E’:@;E s_ag s2\& Hodes
2. Xy '

Hydrogenation of vegetable oils

nE Doaohé derer E|EleBBe SOt
=) g ("l A e 2

3.v

Hydrolysis of methyl acetate

HPS 0B 2edBhes
4. %

Question Number : 146 Question Id : 64041112466 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

: MCQ Option Shuffling : Yes



Consider the following.

Bodarfif HBMHHothm.

Statement-I ~ : Gold sol 15 prepared by Bredig's arc method.

oy -1 ; ﬁssgﬁ"a?éa @R Dk oS E’:cge'.%é% SR

Statement-Il  : Bredig's arc method involves only dispersion but not
condensation.

gy -1l . (B8R Qs o !’dg&ﬁs D5t (H8ch SelEDh afhd dotnod

=R aFolBsdm (KB B0k,
The correct answer 13
é&@a:\‘: 8350

Options :

Both statement-I and statement-II are correct
a—fas:;;-l o8B0 ﬁ;@;-ﬂ Boir JB8FTE.

1, %
Both statement-I and statement-II are not correct
ﬁasp:-l 080w =gy -1l Bodir V8GR =D.

2. Q (= -
Statement-I 1s correct. but statement-II 1s not correct
o0y -1 H8GHRG, =8 Teoey -1l JBGHRS ==.

3\?‘, R o = e
Statement-I 1s not correct, but statement-II 1s correct
97‘53}5-1 RBTXS ==, == Q-_JEEE;';'II LBTHRR.

4, %

Question Number : 147 Question Id : 64041112467 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Which of the following sets are correctly matched ?
1Bo® & SDhen BB 228 &S5 7 (only = SrSh)

Metal (5550) Refining process (%55 £58)

I) Hg distillation (%x550)

IT) Cu poling (8#8ohR)

I1I) B zone refining (sooe §%550)

IV) Ti liquation (£)$¥)5es0)
Options :

. I IIT & IV only

I. IT & III only
2. ¢

I1. TIT & IV only
3. %

LILIT & TV

4. %

Question Number : 148 Question Id : 64041112468 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The Gxides of nitrogen obtained by the reaction of nitric acid with
(1) P Do (1) P p respectively are
E@%E \_J@O 1) P4010 [11) P P_'E??-R ':\.56 O&Eﬁw PRV tL'C'u.D n,lef]uu_n g‘ gf( DB

Options :
NO, N,O

1. %
. N,0,.NO

N,O., NO,
3.¢



NO,.N,0

Question Number : 149 Question Id : 64041112469 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the following
Eob @0 exeddihain

List-I (aquated 10n) List-II (colour)
erfae-I (odira (20)) erda-1I (Boiv)
A) Ni%t I) violet (&c5°)

B) Fe3* IT) blue (Do)

C) Mn3* ITD) yellow (552053)
D) v+ IV) red (2%55)

V) green (es35:d))

Correct answer 1s

rw 6%;_”,_- n.-':-.x.n' CJ-HH'CJ

Options:
A-V, B-III. C-IV. D-II

A-IV, B-V. C-1. D-III

A-L B-IIIL, C-IV. D-V

A-V, B-III. C-1. D-II

Question Number : 150 Question Id : 64041112470 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



The 1on with 4 /' configuration is

7
41 DegRio i) ecirid
Ch
Options :

3+
1% P1

Question Number : 151 Question Id : 64041112471 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is the common monomer for the polymers Bakelite and
Melamine ?

BB H60 DD DHbeE sybr 68 ITHE 06 ?

Options :
P OH
=
1. %
I
H-C-H
2. ¥



CH; - OH

Question Number : 152 Question Id : 64041112472 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Activation energy for the hydrolysis of sucrose by acid is X kJ mol ™ whereas
activation energy for the hydrolysis of sucrose by sucrase 1s Y kJ mol™!. Xand Y
1'espectively are

HEE w8 2oddhm 5580 &8 ¥8 X kI mol ™ B0 SEE ok o SEE 2o
AR ‘-iaa <48 YkTmol™!. X 8050 Y en i

Question Number : 153 Question Id : 64041112473 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The structure of the nitrogen containing heterocyclic base given below represents

Sot§ sdwbid JiE EE@.@\, Qe He0h Qomjgazin B0 ErO%006 ?

0O

E NH
NJ\O
H

Options:
1. ®



Adenine

|

B3
T

Thymine

B0S
2. ®

Uracil

Snoeled
3.

Cytosine
52,

rztl
am

Question Number : 154 Question Id : 64041112474 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
What 1s the drug used to control depression and hypertension ?

DEHS, ©HY BEDEND DoHol@oSeedd arE Hoth b ?

Options:
Bithionol

o £y B =
AL Tov VAo
1. %

Equanil

BSTeaes
2.v T

Dimetapp
Prontosil

. BrSest s
4, )



Question Number : 155 Question Id : 64041112475 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What are X and Y respectively. in the following set of reactions?
8ot mikpb P J086° X bt Y en $6dme 00 ? (dry ether = 808 %35,

anhy = o)

ct
ﬂ/ + CH;CH )CH)CE%*D{

tl
V etner

4

AN I
{ J +CH;CH,CH,C{——= Aty sy (major product)
S (Boes sdSo)

A

Options :

e TN

1. %
Cﬂ)\ = .
§ ‘ g'
2. ®
ShNen
= N |
3. ¥
= /L& m/\_/’
L‘:;J ‘ e
4, %

Question Number : 156 Question Id : 64041112476 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



In the following sequence of reactions. what 1s the end product (D) ?

Bob S SEged® &b &Ko (D) b ?

; KCN H;07 LiA/H €
C,HsBr >A—3 = B R

B 3
573K

Options :

Acetone
~@. 3B E

(8 FL LN

Propionaldehyde
3 @Eﬁj@ﬁ@%@ﬁ
Propanol-1

4w BEHSES -1

Question Number : 157 Question Id : 64041112477 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The most acidic carboxylic acid 1s
0&HE ety Ko sond DS wiho

Options :

®
C‘I/CHICOEH
S

1.

3.¥



HCOOH

CH;COOH
4, =

Question Number : 158 Question Id : 64041112478 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A carbonyl compound X(CgHgO) gives yellow precipitate with NaOL.
Hemuiacetal of X with methanol/dry HCJ 1s
2.8 236 I ?L €50 X(CgHgO) NaOI & 3503y S0k @Fgard) sxob. HEs
& HCl & X @ng) Irhantrs

Options:

(T CH,CH(OH)OCH;,
|

""\-\_,-""-'

K\J,('HECH(OCHm

S

1. %

OH
J/C H«H( H;
&/ OCH;

(|:]H

ﬂ(‘ (OCH;),

s

Question Number : 159 Question Id : 64041112479 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following does not involve in Friedel-Craft reaction ?

fu ' = : = e & E T T R
Bob >BE° 06 (HES-srp S&d P 7

Options :

A\ _-OCH;
(T
#~~NH;
J

A e
J

Question Number : 160 Question Id : 64041112480 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Consider the following

BobardR H0idon

Statement-I  : CH,NH, 15 more basic than NH, but C;H,NH, 1 less basic
than NH,.

gy -1 . NH, o) CH,NH, 20258 g0 =0 NH, %08 CﬁHFNHleawé’?ﬁ
go.

Statement-Il  :  The order of basic strength of amnes in aqueous phase follows
the order (C,H,),N > (C,H,),NH > C,H.NH,

gy -l L wo @596 dien Fhod g8 Ko

(C,H,),N> (C,H,),NH>C,HNH,
The correct answer 1s
BN aarw
Options :

Both statement-I and statement-II are correct

am;s;;-l Feblaleren) :?;apa-ﬂ Bokr JBGpR.
1. %

Both statement-I and statement-II are not correct

rasp;-l o850 aﬁéaaa-ﬂ Boir JBTED =.
2. ®

Statement-I 1s correct. but statement-II is not correct

?53;5-1 LB, =20 -:T.F‘é%);-]:[ LBTORD =
3. ¥

Statement-I 1s not correct. but statement-II 1s correct

.;?53:;5-1 LBFHH ==, =0 T;ﬂ;;-ﬂ LBTRB.
4. %





